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Three examples to illustrate the geometry of complex eigenvalues:

0 -1
A= ( 0 - ) .
The characteristic polynomial of A is A2 + 1, so the eigenvalues are A = +i. One
eigenvector associated to the eigenvalue A =1 is

Y
Example 1. dd—t = AY where
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Y
Example 2. Cfi—t = BY where

2 =2
a-(22)
The characteristic polynomial of B is A\? + 4, so the eigenvalues are A = #2i. One
eigenvector associated to the eigenvalue A = 27 is

Y():(l;_Z)
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Y
Example 3. (fi—t = CY where

1.9 =2
o= (1 3h)

The characteristic polynomial of C is A24-0.2)\+4.01, so the eigenvalues are A = —0.1421.
One eigenvector associated to the eigenvalue A = —0.1 + 21 is

1+
Y():( 2Z>
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